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Le nombre décimal du jour : 
10,09 



Le nombre décimal du jour : 
10,09 
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100 
 



Calcul mental 



3,58 x 10 = 

x 10, x 100 



3,58 x 10 = 35,8 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 8 739 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 8 739 

4,82 x 100 = 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 8 739 

4,82 x 100 = 482 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 8 739 

4,82 x 100 = 482 

6,75 x 10 = 

x 10, x 100 



3,58 x 10 = 35,8 

52,4 x 100 = 5 240 

873,9 x 10 = 8 739 

4,82 x 100 = 482 

6,75 x 10 = 67,5 

x 10, x 100 



Résolution de problèmes 
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Elle devra acheter 7 boites, et il lui restera 10 crottes au chocolat. 
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